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LEFOBHICLYRENON EBIERTHE | LEFORMILYREN DN EEIERTHE LEEOBBICLYRENON EHIARTHE | LEEORMIEYRENOH EHIFRTHE
BESND S BESND S BEEND N BEEND N
LEH0 (BW) Han LEEO (BE) B
LTSS, THE ‘ TEEORBOBEN . MU FOBE, TEE \ LESORBOBEN :
‘ OBBIZLS AH THEORE 5 rtez a ThARORS » OBBIED N TREAORE |5 stz sk ThARORS
BEAROEE | oo/ mi% 182 5 R 8 IR DEM |1 00un/m* 4482 5 Kt
HOXES | LEE | HOREX| tEE | NORES| tEE | HOKEX| tE% NOREE | tEE | HOREX| tEE [ NOKRES| tEE | HOASE| 1E%
DIEBA| oFx |0BBX| oms |05LBA| ofE |0BBX| oBs DILBA| OFE |OBBX| OB |O3LBA| ofE |OBBX| oBs
LD LD LD [ 30) NHLO LD NHLO LD
(kN/m?) (m) (kN/m?®) (m) (kN/m?) (m) (kN/m?®) (m) (kN/m?) (m) (kN/m?) (m) (kN/m?) (m) (kN/m?) (m)
1~ 2 - - | 10000 | 1.00 - - 9.87 1.95
2 ~ 3 107.49 | 1.00 | 100.00 | 1.00 - - 9.92 1.96
3 ~ 4 10839 | 1.00 [ 10000 | 1.00 - - 9.97 1.97
4 ~ 5 152.39 | 1.00 | 100.00 | 1.00 - - 15.16 | 3.00
5 ~ 6 152.39 | 1.00 | 10000 | 1.00 | 1824 | 361 | 1516 | 3.00
6 ~ 7 150.59 | 1.00 | 100.00 | 1.00 - - 15.16 | 3.00
7 ~ 8 - - | 10000 | 1.00 - - 1317 | 2.61
8 ~ 9 - - 78.84 | 1.00 - - 1020 | 2.02
10 ~ 11 - - 88.86 | 1.00 - - 9.14 1.81
1~ 12 - - 88.86 | 1.00 - - 9.62 1.90
12 _~ 13 - - 82.09 | 1.00 - - 1017 | 2.1
13 ~ 14 - - 7113 | 1.00 - - 1017 | 2.1
14 _~ 15 - - 7113 | 1.00 - - 9.37 1.85
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